12.1 PRACTICE TEST 1 EXPLANATIONS

Question 1: E

Cross Muli\plg
5 _02
x "1
0.2 _ 5
02 02

x=25

or |u3 N answer
choices ror x
Question 2: K

Cos‘s'esPonding sides
and anqles are in the
same p S'\l’\Oﬂ_ .
ZR=«4X RS =XY
25 =2Y §_1'::-=' ‘{_—'é
2T=«z? RTE=XZ

S Y
R{X&T xf(é-;\&z

Question 3: A

Distribute th i)
ar? drol;: fhe ;&:‘%&te\gees

*m-3n-4m-6n

Combine Like Terms

¥m—"Ym-3n-6n
Im-9n

Can chech or solve b
Plugg’\ng in the concrele
numbesrs Fof m and n

3sM
43N
................................................. 4
(7M=3N) = (4M+6N)
.............................................. 227,
3M-9N

=27
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Question 4: J

Mulh|>|3 coerricienis
and Add Exponents

4.6x>*® = X

Also can vse concrete
number ros X

Question 5: B

P|u3 asisintothe
calculator, or rollow
order of operiaions
lihe so

3|-3}-2(6)
3.3-12
q-12

313-61-2(5+1)

Question 6: K

Find the range using
subtraciion, but be
carerul or the nesai'wes

Last-First
14- 5)
14+5
19°

Question 7: B
Find unique ractors

51 7.3 7
2-5-7=280
You can also see which

is the smallest answer
choice evenlg dvisble

byall3

lcm(3S, 1cm(28,8))

Question 8: J

3(2}-6 - 2)+5
3.4.12-5-12+7-19

3X*-6X-5

Question 9: D

Mind the Gap!

First min = $1.15

14 additional min (not 15)
$1.15+14 ($0.20)= $3.95



Question 10: K

an+b=F(n)

Use elimination Lo solve
the sysiem or equalions

_16a+k 28
120+ 5-20
Ho= 8
a=2
Now that we have "a" we

can P|u§ back in Lo either
equation o solve ror "b"

12(2)+ b=20—"

16(hba28~2

EDIT TESTS
1:1-Var Stats
2:2-Var Stats

3:Med-Med
EHL inRe9(ax+b)
g=ax+b
a=2
b=-4
r2=1
r=1

Question 11: D

65+40m = 515

40m = 450
m=11.25

Since she will be short
arter the 11 month, she
must save ror 12 months

Question 12: J
Area = length x width
(x+3)(2x- 2)

FOIL
2¢- 2x+ 6x-6
e COMbine
2¢+4x-6
125X
................................................ 12
(XF3) (2X=2)
.............................................. 330,
2X*+4X-6
330

Question 13: D
Same procedure as #*
Hd-Gx -4+ x*- 5x-8
Y+ - 6x - Bx-4-8
5x*-11x-12

Or, substitute a number in for

x, we picked 13:

13X
................................................ 13
(4x%-6x-4)-( -x*+5%+8)
.............................................. 690,
SX2-11X-12

690

Question 14: G
8in x+ cos‘x =1
sint x+97 = 1
sm‘x*l-
sin® x-,—i—

sin(X)%»Frac

Question 15: C

180'-108'= 2= 4BAC
180'-140"= 40" = <BCA
ZABC+Z4BCA+<4BAC=180"
£ABC+7T+ 40’ - 180°
ZABC: 63
Also, 1sust your eyes!

Question 16: F

In the standard rorm
ora line Ax+ Bg =C

the slope' m":-—ﬁ-‘-

13x+ 5y="
m=--‘§-

Question 17: D

Get Lo the sum total
and work backwards

76+82+94+90+78-1420

QYGPQSE

Hgo 8 \S
C new o.vemse
k.—;

iesis 84+2-86

86:6=516
516-420=9¢
Question 18: G
Can put the numbers in
order by hand
1,4,4,%8,9)11,12,16,19
£
3+9
=85
7 8
PRV VT

EDIT TESTS
-1-Var Stats

TSx=5. 586690533
ox=5.3

n=10

minX=1

Qi=%

Med=8.S5

Q2=12

maxX=19

Question 19: D

Ir a=3 3b2¥
(moximum) bz}

b=*
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Question 20: H

The savings oiotal
expenses is equalio ,
the angle ovt o 36c0

450 _.e
3200 360°
32000= 162000

©=50.625
x5!’

Question 21: B

You CAN use Pythagorean
theorem Lo rind the hypotenuse
AB, but the answer choices
willdictate that AB= 25

Question 22: H
Area = base x height
base=9-4=5
height=6-0=6
5:6=30

Question 23: C

Plug n-5ror "X"' and

-3ror"y

(-5+6,-3-4)=(1-9

Question 24: H

Use Elimination...

5(c+2d=16)
56+104=80
-(5¢-34)= 15
H3d_65
13 13

d4=5
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Question 25: A
Areo.=;-:-base-he\3h£

base=ZY =30

height= WT=6

Area AWYZ= 7 (30)(6)
Area. AWYZ=9Qin?

Question 26: K

. __Opposite

RIS Huypolenuse
Hggotenuse
O|=|>os‘\£e

S e
Z

10.5

6 3

Must be J or K rrom
he outset, asthe
laraer number must

be n the numerator

cosecant =

=cscZ

Question 27: E

A WZT s the 2nd
multiple of the 3:'1:5
Pythagorean E'!Ple,

the €:8:10, 50 7T=8
horizontally the x valve
or point X willbe

ZT+WX=3+16=24

Question 28: H
By ractoring (Grouping)
First ractor out an x
23-5x-3
x( X )thi
x(2x16x+x-3)

x(2x(x-3)+l(x-i))
x(%x-fl)(x-?»)a o

2('3)='G}c<m be split

C+1=5 in eithes order

Also, whai makes the
ractor o will also make
the polynomial 0

I:F0)=0v
IL-F(3)=90%
T=F()=07

Ploti Plot2 Plot3
B\Y1B2X3-5%X2-3X

|
i

TABLE SETUP
TblStart=0
aTbl=1
Indent: Auto

Depend: Ask

EJEC .

Question 29: C

Yov can plug in eachio
el the Lemperatures and
then subtract the results

F(29)-F(16):-21 2

but since it's a CHANGE,
§ou can PI"S in the dirrerence
F you ignose the constant

F3(28-16)¢32- 21 %




Question 30: H

opposilte
an=TEOSe

~adjacent
Tan(2¥)= g2
h=44-Tan(29)m

Question 31: C
(2+78) x=53

53 . ..
2+¥i-2 &

Ir2 comrlex numbers
multiply 10 a real number,

they MUST be con jugates
o multiples of con juqales

X'+ 3'=(X*si) (x-gi)
2*+ 753 :(2+70(2-%)

X=

Question 32: G
Asin(Bx) 1Al=Amplitude

—231'=Peﬁod B:5

From the graph, there ase
25 cycles From Otor
q 2

m—

SOB=I§= 5

Question 33: C
ZX+ £2=130
£+ 27 =180
LIX+LE+ LN+ £LE=360
ZX+\+2 £ 7360
“’\;‘J

90+2,7=360
2£2=270
ZZ=135
Can also be done b
showing that £X = yAl

Question 34: J

Distance IS Pythagorean
Theorem

AB"-} AX’Ed’L
13-(-4)kF [#-12]= 5

Question 35: C

From the plot, there are
11 stvdents who sold
more than 30 Lickels

3]10112335%9

173 5HsCRe

11123 1
91011 30

Question 36: G

Sad = 168(3)+121(5)
=$1109

Sun=122 (3) +136(5)
=$1046

1109-1046:$63
Sat>Sunby $¢3

Question 37: C

Sealsrorman

arithmetic sequence
0nz0,+ d(n-1)
8,:12+6(n-1)
8,212+6(n-10)
8,=66 seals

Question 38: K

The |od‘3es£ o.nsle is
across From the

Iwgesi side. Irx X
isequalio 110°, then
YZ is the lonqest side
irthesidesareinthe
relationship YZ>XZ>ZY,
the omsles across will

be the same,

AX0410427
AX+4Y*x7=180
AY+4£ £-30
4Y<70: and
£Z2<30

Question 39: B

The derinition of
is fhe ratio or ﬁwe
circumresence of o.
circle to its diameter

_Circumrerence
Diameter

m_8 .30

1D K]

Can alsways swop d\agnoal
erms when 2 rractions are
set equalto each other,

and can always pui contanis
overl.
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Question 40: J
Annual Interesi Formula
A=Al )
Monthly Interst Formula
A=Al &
Aa=3200(1+:82
-3200(1+)""

2(12)

Question 41: B

(Bxe) -
3x+Y=1
3x=12

o
let 3x=

[g+ +6+10

Yov canalso P'“S n
answes |cho‘|ces for 3x,| '
but don't conruse with 'x

Question 42: H
Area. or shaded reqion is

Area. or whole - Area. of inner circle

'rr R:- mei=Area
w12 - w6 =Area
w144 - 736=Area
1087r= Area

Question 43: A

Substitute 150 ros P!
and 2ror D', then
solveros 'L

=5BL
150=

Muli'\Plg bg 2
2(150)= 25L
Divide bg 25
2(150)_ |
25
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and solve ror y

Question 44: J
1.1.1 1,¢6.4.1

— e —= —_—

122732 11N
The femaining 1—5— are red

1. .0,
7 redLotal==~ x=480

There are 430 beads in the
box. Ir halr are q:'een,

then there are 240 greens.

Question 45: B

Can pluq in concrete numbers

and math with the ﬂgh{. 3mPh.

When x180,y1s2
When x 131,y 18"

Or solve rory and maich,
3x-6y=-12
sub}.s:o.—é. -6y=-3x-12
divide y= TXx+2

Question 46: K

The lenqth and width or
the posier board willbe
the l:z%s: or a right iriangle,
with the diagonals being
the hypotenuse. Since
there are two d’mgonals

Lotallength= 24" 13

=2[81+169
=2(250
=325t
2]9%+13?
SOZ

Question 47: A
Circumrerence = 24r ¢

2(20)r= 40
40w 20w
6 3

Question 48: K

Whai Paco did...
B, $40- B,

What Paco should've done...
B,- $40- B,

Say he started with $100,

it now reads $140,
but it should read $ 60,
So it now reads $80 (140-60)

more than it should.

Question 49: A

Yertical asgmptole is
where the denominator
isequalio0

2x+6=0
2X=-G

X=-3

Question 50: K

We have G repeating digits,
30 $=1GG% cycles,
Since the remainder is 3,
the 999™ digit must be

the 3’ digik 1n Lhe repeating

sequence, whichis'8.
Question 51: E

You can vse concrete numbers
here, but 5= 3¢,

and h, ;ﬁ

Y= (80) (52)
Yo FHY8 2,
A5

Yo 188 Limes as greal
asY,

=3



Question 52: K

Irxisoddand
neqalive, then 3xis

also odd and neqative,
30 FOF 3)«5s fobe

even and positive,

> must be even, since

an odd must be multiplied
bg andeventio e}. an
even result, an 3 must

be ne o.i ive,as a negod. ive
i'\mes a ne od‘\ve isa

positive. Since odd exponents
neepi eir sign, 5 must be

nesod. ive and even.
=7>»X
............................................ 7.00.
-4>Y
............................................ 4.00.
3xY°
21504.00

Question 53: E

Use Pgiha%'oveo.n theorem

Lorind the height or the
cylinder h'+ 1= (2 r_)
h'+196=772
h'=576
h=24
Yolume=ws*h .
=w(14) 4)
= 4704
14,773
14-R
14.00

Question 54: K

Since the rirst and last
digit are always ¥, we
on ?‘have 1 optionror
each or those d‘ﬂ its. For
The other ¥, there are
oplions, so the total
num ef Of poss \ble ns

=1-10-10-10-10- 10 10-10-1

z

=10

Question 55: C

InLawor Sines, the
rroporl ion of the side

enqth o the sine or
the ansle across is the
same ror all 3 side,
o sin'i0 _ sin80
dy-o 1400
1400 sin40
sin30

dy-o=

Question 56: F

3cosr=3  3sinfir+1)=3
cosr=1  sinfr+1)=1
COS.'(1)= P S\ﬂ"(l):'ﬂ'* }

0=r J=r+d
9+}_:-l{-%‘1-1‘:£

cos?(1)2R

Question 57: E

VR R s
S 2IEHAE S
-

AXB - BxC

2x2)(2x1)=(2x1
(x%(/X\(Azc)

[FRAC IFUNC WyRi=sal YVAR |

HEI IR

Question 58: H
X -0.xis rerlection
@® Fx)=-F(x)
Yesrtical shirk
@ FR)=F()+Y
Horizontal shirk
® F()=F(x-n)

S:COSX

5=zcos(x-l.sﬂ)-b
© ®

Question 59: C
(x-h)+ (y-H)'=1
—_— =T
a b
center(h, 1)=(5, 4)

Ma.jor Axis a= 3
minos axis b=2

-5 [CE))

2:summation 2(
3: nDeriv(
........... 4: fnint(

Y1 |
~2.00 ERROR
-100 | ERROR

.50
2.00 166




12.2 PRACTICE TEST 2 EXPLANATIONS
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lllllllllllllll

M
= =
~ +

.A '\,:

L </
N =

22 ~

[—1 )

— <

<

C)'\Iu

LA+L A8 +/ A =130"
2X+ X+ 90 =130
=0
=30 — 2X=60
INAN TS0JCELES TRAPEZON,
OPPOSTIE ANGLES = SPLEMENTARY :
A+((=130°
60"+ (=130
(=10

Question 8: G

MATCH COEFFTCENTL(INCLUOTNG STGNG)=
]

AR



Question 10: G Question 13: B Question 16: K

(LTI 01 EAUATTON Wﬁ@ﬁ%@ ik THL T h_p[rs
fe41-41b-§5p = 468 FOR THE THER MEMRERS 35%—9 il % ( ng :
iy =P 2 =Y
S’SHP HA(K Question 14: J F F l‘
]ASWMI i B\E&ZV(SR{ BASIC 1(3)_2(4) _ 3_8:: _ ..1.6..x ................ 16 .e.a..
ZA“ ) “ (ALY 7 A 2500,
N MIIEJIB[“F]K?[MWMRIDH o .
554 -J3ADE- -5 O R e B ] —"
Question 11+ & zz;IIﬁﬁﬁIﬁﬁIﬁﬁﬁIIIﬁﬁﬁﬁﬁiﬁﬁﬁﬁﬁﬁﬁﬁé;ié;ﬁ
LET X=MIMBER OF T3] % quesontsse A
\-1— I[H(I S)(UR‘NG Y
33-38+30(1-7 0 o Question 17: A
o MR T o
196 + 90X 180=97X ' _ 5\{ 3X K
8-
=1 b Z

Question 12: K

m,= %—av 3y +]

Question 18: K

AVERAGED WITH — DIVDED UM= SHALLERVhLLE
DIVIDEDBY —YTELD NECATIVE VALLE
MUTIPIED BY—YTELD NEGATIVE VALLE
PLUS—YTHD. MM[[KVMU[

ST
SHAL
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Question 19: C Question 21: C

B+ 1= BT THRE UG NOMBER-10

]8 +ZAr B gn fl((l_zlﬂ a,=1
J_j;g(g -2l Hfg{&(kg;;m
RRREGTH 345 e T
@_'(3=@4¢5)=16=Z4r30 L
S N A
UDONT RN B4 i 1@32“35;{[ MR
%‘LUUNW 3es—>1m i
Question 20: K
% 6%
W
Ao
e
X: 40 Question 22: J

= + QDD INTGfR—~> IKE +5
Y=~ DNk — Kt -3
FY*=(3) =-243 © (DD INTEGER
6 X"=57= 4 NOTANINTEGER
K XY=(519)=-15 © 0D INTEGER
JS (3)=8 @HENINTEGER
% 12918 NOT AN TNTEGER

000000
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Question 23: D

Question 25: A

=" tn()-t
unihun(-%-$-%-4

Question 26: F

Question 27: D
X=0,Y=0
0-3 +(0-4
(3+(4T =9+16=T5



Question 28: G

40046, 10 p ey

ot L0
0.5 x10™~3.0x1¢"

h= 3r—»34
\=TT4"11=191T

Question 30: G

kN

Question 31: A
(it QUKDRRTI WATWN
Y= M4

Question 32: H

b = 11T Dy

HN= lﬂ -
Pmm il

Question 33: D

Vo =5T00
d=14l=1r
= TEIN
V=T (1= =3% i
TOTALVIUME =9-5.96 1°=53 TV

Question 34: G
36~ 11=1165N

A=A =11 63K

[=[08"=115f
d=1r=11185=1311

Question 35:

g

TUB0YS «TRGIRS=T54 (OMBINNTONS

Question 36: K

AN T

PGE) =%
([h%r%

Question 37: A

PLIB0Y9)= T80V T 11 =

PGS = 3G T4 =

NLFOTBE OOOME= SRR o 5 =
),

pCaBosg)-PoeR) (L)
T

Question 38: J
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Question 40: F

Question 42: H

¢ MR
N=1

MED=AIRGE T " PTG
T" NG =64 8 TN =

6l ; o

Y=(65:-64

V=-4

=66

350 |

Question 43: B

4-40-3=%
30-0.6:71=36
30-63-1=1

98 <36+15=141

Question 44: H

IANGLE DELIALTY ThARA

IWwon

RAL
T18 9,101

Question 45: D

A
Rl 007 =137

Question 46: K
1= Q=)= TR N

3 ]P B
TN L= =25
14 BIWIING BALS =4 x Q185 17 444f

(WTE= <2 SH*Z =18, 75 i

BISH -4 441~ 14 37 F WilR
(0L fr BEFORE CVERF e

Question 47: A

ML e
i

(UALS

1= 0057

’:7

R




Question 48: J

B (-1
1: @ee @@9 1966 9@9

=1066 eaex(eaz
0o
(5= 49609

L2(1)=1000000

EDIT TESTS
212-Var Stats
3:Med-Med
4:LinReg(ax+b)
S:QuadRes
6:CubicReg
7:QuartRes
8:LinReg(a+bx)
9:LnReg
EMExPRes

Xlist:L1
Ylist:L2
FrealList:

Store RegEQ:Yi1#
Calculate

y=axb™x
a=1250000
b=.8

r=-1
rrrrrrrrrrrrrrr

1E6
......
OOOOOO

Question 50: G

[
J1+9" =187

Question 51: A

36+10)+<16.0) W =0
(9+30) +(e1.0)+H=0
3,30 W=0
W=(3.-30)

Question 52: F

e
Bl

3X +bX +]

1(1)<8

2 b2—84<@
84— |l

€ s
YIES N ARSLUT VAE

Question 53: B

-5

5

PALONNRE=TE 5 5 am’”

5
i3

i)
d d
PATIAREA= () (/37 -
FOTTING k= 15T - 30 <7

S
95-798RILS

Question 54: H
F(?J( JF30Kb)-T
(EX)= S 1)+
( H-9(X)
36t+b) 1= 51+

Zb:-Z8—>b=-14

Question 55: C

=1 Tna:
f=Ase( gﬁ[K([)BZDZ PIRI] D-ZTHZW

Question 56: K

LECTED VA -”‘”&'u“n%mm"énﬂ”

TOA N O MOAEY = 1)+ S0 +100)+ 20C3) =411
IR FBS =12+ T3+ 3= 71 BLS

) V=g o

WMREELS 2180

List:L1 ;
FreaList:L2
Calculate

—Var
x=5.81
3Ix=157.00
3x2=1887.00
Sx=6.12
ox=6.01
n=27.00
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Question 57: C Question 58: H Question 59: C

2102
LU0 (=g 1= mﬂe/ 1

2 16

IJJ[ IH{MODU[UI i |

(706 +0) = (1-6) +(1-)
d= l 1-6) +( ll (8)2+(6)

e = 1anen--
LA MY RE 45 D - 455
i 1443 4

Question 60: K

ATIEAH HKK 15 NOT6 LRREKT
PNITE)=1-P (B)=1-B6TLH=6.91T6
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